XYZ,=109.84 ,99.99, 35.58 Parameter:
A=256-a)Y 1004 B vanName
2,58, (b-b,) Y Lichtart AGD
=ay[(x=x.) /) Y=10Q Y,=50

Gl RHB R AR
eoawal_dl:arber; (z;)c v 75,0

von m, 'AB im r v 79

Buntwertdiagramm (A, B)  ~100 . Q:O A00 528, -=mn
Lichtart AGO , ¥,,=100, Y,=50 IRREE B

Name Bereich X,

R, 5797750403 7156 17.84 ‘0.5149 oozl 400

¥, 504_775 107.288.04 18.99 04781 04371581 474

G504 579 6731 76.55 18.97 0.4133 0.4701 547 547

C, 380579 70.0 7856 35.57 0.3801 04266 499 605

B, 380504 57.72 521 34.43 0.4001 03612474 581

M, 579504 97.62 73,59 34.45 04746 0.3578 547c547 ~100
W,,380_775 109.899.99 35,58 04475 0.4074 100%

N, 380_77554.92 49.99 17.79 04475 0.4074 50%

7, 380_77519.77 17.99 64 04475 0.4074 18%
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